thd. T[keV]

=
=
o 0
©
=
-5
. thd. vtot
‘thd. vxgse
:thd.vygse
‘thd. vzgse
o
E
4
s
©
=
B 1 e e B e T T PP —
B M " - PR R — | - " M T | " P — P " | IR M PR PR B M
100 =1/ LEEEE EEEEE T LEEEEE EEEEE S LEEEEE EEEEE - LEEEES SR LIEEEE EEEES IS = | e 1 LEEEES EEEEE - —
. . . . . thd. Np .
10 L —
= - .
© - -
=
=
° B -
=
0.00%
10
g s
=
(=]
1 0
o
(=]
2 s
-10
_15 L L L | L L L | L L L | L L L | L L L | L L L | L L L
11/18 11/ 20 11/ 22 11/ 24 11/ 26 11/ 28 11/ 30 12/ 02

Time [mmdd] from 2016:11:18:00:01:00.001 to 2016:12:01:23:59:00.001



